Example: Cable issue. Consider the following RC circuit, where a 50 Q2 -cable is used. The voltage

source v(t) is connected to the RC circuit through the 50 Q -cable. The real voltage applied to RC
is Vm(t).
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We can solve the differential equation to find V¢ (t) = Al1—e 7 |u(t) and
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Vpt)=A1-e 7 +——e 7 |u(t) and t=(R+50)C. Therefore, Vn(t) is no longer an ideal
T

step function.

How to make Vn(t) close to an ideal step function?
(1) qualitatively should R be large or small?
(2) If R>>50Q), what is Vim(t)?



